%6 2 A4 R X & S PR KK RS 1/5
S AR A>T ) —F (50m)
HIH : 2025688 H5H (¢k)

No. 14 B8+ 50m BEHE B A LL— R R

B K £ & PE KR icE

OPN =j# 3=EK 4 E =2 21/ 4 24. 91 9%k ( 0.67)
OPN AR filK S E =2 21/ 2 25. 01 8t ( 0.65)
OPN JR I Mk D 52 21/ 5 25. 04 8% ( 0.59)
OPN i A K 5 Fr K Hi =2 21/ 6 25.08 8#% ( 0.63)
OPN [ FH H 4L E =2 21/ 1 25.25 S8t ( 0.60)
OPN [HH FEA R R — =2 21/ 8 25.55 8 ( 0.66)
OPN 3 f&nt Ay =l 21/ 3 25.77 8%k ( 0.63)
OPN K Sh A =2 20/ 5 25. 82 T#%  ( 0.63)
OPN FKH  [FEEA S =3 20/ 2 25. 85 T#%  ( 0.68)
OPN 3 I Tfd =2 16/ 2 25. 87 7#%  ( 0.64)
OPN &k KOk =5 =2 19/ 6 25. 87 7#%  ( 0.69)
OPN i Bk F B =2 20/ 9 25. 88 %% ( 0.64)
OPN AEEJE A HHD =1 21/ 7 25. 96 T#%  ( 0.63)
OPN #k Vi1 2R =2 20/ 7 25.97 T#%  ( 0.64)
OPN L)1 kefg: A DAy =2 20/ 4 26.08 7#% ( 0.63)
OPN #Hy i FHHK =319/ 0 26.09 6% ( 0.60)
OPN B}  K— Py =3 21/ 9 26. 14 65% ( 0.65)
OPN B H & AT =2 19/ 4 26.15 % ( 0.64)
OPN #eHp JEE LR =l 20/ 1 26.19 T#%  (0.73)
OPN /KB A7 &R =1 20/ 8 26. 20 7% ( 0.58)
OPN FHpT FnE JIB =2 20/ 3 26. 22 7#%  ( 0.68)
OPN {Efk R & H =2 20/ 0 26. 31 T#%  (0.71)
OPN ZEH  F&EA S =l 20/ 6 26. 34 7% ( 0.65)
OPN HH FEK AL E =3 21/ 0 26. 36 6% ( 0.71)
OPN =yt # FHHH =319/ 3 26. 50 65% ( 0.58)
OPN KH 4 HHD =l 18/ 3 26. 51 7#%  ( 0.66)
OPN /A fr H Fih, FRAT =2 18/ 7 26. 61 65% ( 0.69)
OPN ZZf  1R%E Tl =2 16/ 7 26. 68 6% ( 0.73)
OPN HIWT  Slpk HHIHE =2 18/ 4 26. 69 65% ( 0.65)
OPN #H & T Fi =2 14/ 2 26.73 6% ( 0.69)
OPN KM =2} B 52 15/ 4 26.73 65% ( 0.66)
OPN /N 5482 VRS AN =119/ 5 26. 74 6% ( 0.72)
OPN =jB K#n EATF =2 18/ 8 26. 82 6% ( 0.73)
OPN & K RN =2 18/ 6 27.00 6% ( 0.61)
OPN BAS  Stk5 = =l 17/ 2 27.03 6% ( 0.58)
OPN B K— BHA 52 18/ 0 27.09 65% ( 0.63)
OPN BpFkf B AT S =1 18/ 5 27.10 6% ( 0.71)
OPN =jf &M D =2 17/ 4 27. 11 6% ( 0.64)
OPN /N BAAh, 3G B =1 18/ 9 27.15 65% ( 0.74)
OPN (i MHEAS =2 17/ 6 27.17 65% ( 0.67)
OPN ARA R FRAY =2 16/ 5 27.20 65% ( 0.68)
OPN #ps RB% Ay =l 19/ 2 27. 21 6#% ( 0.70)
OPN Frm  Kin] HHHAA =2 17/ 5 27.23 6% ( 0.71)
OPN HHF #K ESE i =1 19/ 9 27.30 65% ( 0.65)
OPN & = A EHIME 2 14/ 1 27.35 68% ( 0.69)
OPN i 224k HHIHF =1 18/ 1 27.40 5% ( 0.62)
OPN ‘AH T8 = H =3 16/ 1 27.49 4% ( 0.62)
OPN {A[JL  =E1h &l R =2 17/ 7 27.50 5#% ( 0.62)
OPN # [ iy A =2 17/ 9 27. 51 58k ( 0.64)
OPN /MK =g = H =l 16/ 9 27.58 5% ( 0.61)
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B K £ & PE KR icE

OPN 7% i & & H =3 17/ 8 27. 64 4%%  ( 0.67)
OPN JCifE FeE=h LA =l 16/ 3 27.67 5%% ( 0.68)
OPN /NI fE=h = L RA4E =1 17/ 3 27.69 5% ( 0.75)
OPN JinpgE ik 25 B =l 15/ 1 27.84 5#%% ( 0.56)
OPN &} HHE 5 HL =2 15/ 7 27. 86 5#%% ( 0.66)
OPN 4 Bk 4 E =2 18/ 2 27.86 5%k ( 0.62)
OPN Hhili AR = H =3 16/ 8 27.97 4%%  ( 0.58)
OPN HHE EHI: B 52 15/ 2 28.00 5#% ( 0.69)
OPN [LJE K & H =3 14/ 5 28. 01 4% ( 0.77)
OPN St &R A PN =117/ 0 28. 04 5%%  ( 0.67)
OPN Il HiK Z2EwN il &2 15/ 5 28.07 5% ( 0.65)
OPN JHE e Ay =119/ 7 28.10 5%%  ( 0.62)
OPN BPfR  #H9R HHHAA =1 16/ 4 28. 11 5#% ( 0.69)
OPN &2 A HEAS =1 14/ 3 28.24 4%%  ( 0.63)
OPN JL.O B HHHAE =l 14/ 4 28. 45 4%%  ( 0.69)
OPN it k2 FEHHHA =2 15/ 3 28.53 4% ( 0.69)
OPN #JI1 K A NN =2 16/ 0 28. 54 4%%  ( 0.72)
OPN #HH HHE = H =3 14/ 6 28.58 3tk (0.76)
OPN 3EH {H 1+ B =3 8/ 2 28.73 3%k  ( 0.81)
OPN 1r#s K e wN il = 9/ 3 28.74 4% (0.77)
OPN Fifd  MEA A &3 15/ 6 28.76 3% ( 0.66)
OPN ¥+ K== & i =3 13/ 5 28.78 3k (0.72)
OPN £ H = VAN =1 14/ 7 28.79 4% ( 0.68)
OPN &2  HH & =1 14/ 0 28.92 4%%  ( 0.65)
OPN iy BEK B =2 12/ 6 28.93 4%  ( 0.77)
OPN #&H & ok =l 16/ 6 28.97 3#%  ( 0.80)
OPN £ P & H =3 14/ 8 29. 04 28%  (0.74)
OPN ‘E H 7 R =l 15/ 9 29.09 3% ( 0.69)
OPN K S = =1 11/ 6 29.17 3% (0.69)
OPN =5 Wiz RN =2 13/ 8 29.20 3% (0.73)
OPN #h4y s HHD =1 15/ 0 29.23 3%%  ( 0.66)
OPN /NI R F. St =117/ 1 29. 25 3tk (0.72)
OPN JitH 52 B W =2 12/ 5 29. 32 3% ( 0.65)
OPN Ly KA i =2 13/ 7 29.33 3% (0.78)
OPN L Kie] =517 =1 14/ 9 29. 35 3% ( 0.68)
OPN &1l #ath FF 1L (M) =113/ 4 29. 38 3% ( 0.63)
OPN HHH ==} V2w ) =1 12/ 0 29. 51 3% ( 0.58)
OPN [EiifE K HEpg =1 13/ 6 29. 51 3% ( 0.59)
OPN Hoc & W =111/ 7 29. 61 3% ( 0.70)
OPN Jnpk i W =2 11/ 4 29. 63 3k (0.70)
OPN #fH  K¥ FRAY 52 11/ 2 29. 71 3% (0.63)
OPN EiA  fdREk W =2 12/ 3 29. 84 2% ( 0.64)
OPN TR [iAr & R RA =l 13/ 3 29.94 2#% ( 0.86)
OPN {Fik =} FHHW =110/ 3 29.98 28%  (0.71)
OPN #ifH F&ZA LA =2 13/ 1 30. 01 28%  ( 0.68)
OPN 21 & gEgsl 52 13/ 9 30. 08 28% ( 0.70)
OPN /KEp {EA4L (A= =2 12/ 1 30.32 2% ( 0.71)
OPN /Nl Zeti: = B2 13/ 0 30. 40 2f% ( 0.75)
OPN /]NE B = =2 7/ 0 30. 42 2%% ( 0.65)
OPN HH  #ERk B 1L (M) =2 10/ 5 30. 45 2%%  ( 0.76)
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OPN A TS TFf =2 11/ 3 30. 55 % (0.67)
(0) 8\ i 5 N Eislze 12/ 4 30. 55 1% ( 0.65)
OPN H2fk FEE HE Fr 52 10/ 4 30. 56 1% ( 0.68)
OPN FAlR  BERE A= =110/ 6 30. 60 % (0.76)
OPN #FH: B Y 12/ 9 30. 69 18 (0.74)
OPN BB [&—RR HEpg =1 13/ 2 30. 69 L#%  ( 0.63)
OPN /NE A A HFHHK =2 12/ 8 30.76 L% ( 0.81)
OPN ‘B AR b HHHAA =2 9/ 6 30. 88 I (0.73)
OPN Ji[HF K =AU =2 8/ 7 30. 89 L% ( 0.84)
OPN il FH S FHHrd =210/ 0 30. 89 %% ( 0.70)
OPN JRH &Z= ok =1 11/ 8 30. 92 1% ( 0.86)
OPN K E  FE#h HHAIHF 52 10/ 1 30. 94 L% ( 0.76)
OPN MEH FEK (A= =2 8/ 1 31.03 Ik ( 0.78)
OPN + B 575 EA = =] 3/ 0 31.06 L#k  ( 0.70)
OPN db)Il  PHiRE A B =2 11/ 9 31.17 1% ( 0.81)
OPN [H3# 5 B H =310/ 7 31.22 ( 0.70)
OPN #k Se AT FRAY = 6/ 0 31. 31 L% ( 0.76)
OPN FpH & Tl =2 11/ 5 31. 31 % ( 0.61)
OPN £ ¥ S H =] 9/ 8 31.53 ( 0.78)
OPN K% = EFHHH =2 12/ 7 31.56 ( 0.70)
OPN JEME sz A wNI =2 7/ 4 31.73 ( 0.67)
OPN HR A7 2 H =2 7/ 6 31.99 ( 0.81)
OPN [LE  FnE = Aal =3 7/ 3 32.03 ( 0.82)
OPN HFA  THK LSEE =2 7/ 1 32.12 ( 0.87)
OPN I8 Hify FHHE =110/ 9 32.14 ( 0.79)
OPN [/~ B¢ EPH =l 2/ 5 32.15 ( 0.74)
OPN A H vE A = 5/ 4 32.20 ( 0.80)
OPN ik X rﬁf‘ =2 11/ 0 32.26 ( 0.65)
OPN Z2f% {5 A H =2 5/ 5 32. 31 ( 0.90)
OPN BEifn  dK Bl = 9/ 0 32. 31 ( 0.83)
OPN PEEF Jof& gEgsl =2 8/ 4 32.40 ( 0.79)
OPN EBp fdX FHIM =2 10/ 8 32. 46 ( 0.78)
OPN /N i FF 1L (M) =3 8/ 3 32.55 ( 0.77)
OPN [t H E27! B Fr =L 12/ 2 32.66 ( 0.79)
OPN A& X A =) 7/ 7 32.70 ( 0.73)
OPN JEH ZH MHEAS =2 8/ 0 32.83 ( 0.94)
OPN [hE  1EF = = 8/ 5 32.86 (0.71)
OPN /A HH =} H Py =2 9/ 1 32.99 ( 0.77)
OPN [Lim S (A =2 8/ 8 33.08 ( 0.66)
OPN 1138 £ T = 7/ 5 33.09 ( 0.77)
OPN HiAf  Eis B = 2/ 6 33.13 ( 0.80)
OPN #bH K il 52 7/ 8 33.14 ( 0.68)
OPN #HH BisE RN =2 9/ 9 33.23 ( 0.75)
OPN 42 %?E% & T =3 9/ 2 33.29 ( 0.70)
OPN Z= FrRS =N 1/ 9 33.34 ( 0.84)
OPN &5 =£& W =2 8/ 6 33.56 ( 0.71)
OPN B0 A FRAS = 1/ 1 33.58 ( 0.78)
OPN kil &K = =] 5/ 9 33. 66 ( 0.93)
OPN R 2 Bl =g 6/ 1 33.67 ( 0.81)
OPN #2 (L1 J& TiE m=l 5/ 2 33.73 ( 0.85)
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B & 4 & PE KR icE

OPN /NEf E Lageey =2 7/ 2 33.84 ( 0.96)
OPN [liH 3K I =l 6/ 6 33.96 ( 0.90)
OPN E& I A FF 1L (M) =1 6/ 3 34. 06 ( 0.70)
OPN G ZEIR 25 B = 3/ 3 34.12 ( 0.93)
OPN H{H Z={& gog sl =a| 7/ 9 34.24 ( 0.67)
OPN =R &4 A =N 8/ 9 34.26 ( 0.81)
OPN K 2HRG B =3 4/ 5 34. 31 ( 0.90)
OPN 4 1 A K EH V2 W) =l 3/ 6 34. 45 ( 1.01)
OPN 2 )EER A H =] 4/ 7 34. 49 ( 0.64)
OPN [ FEHR = M =a| 4/ 8 34.52 ( 0.81)
OPN 7 s A 5L =2 2/ 1 34.54 ( 0.83)
OPN #fH ZhE I = 3/ 4 34.717 ( 0.65)
OPN Il ik H v =3 6/ 2 34. 81 ( 0.65)
OPN HHHT K[z = H =] 6/ 8 34.83 ( 0.66)
OPN Jnpk & B 1L (M) =) 6/ 5 34. 85 ( 0.89)
OPN 3 R/E iz dk =1 6/ 4 34. 86 ( 0.98)
OPN —=#ii =KX S H =2 4/ 2 35. 11 ( 0.79)
OPN LA fifi K i H =3 5/ 6 35. 14 ( 0.88)
OPN A7k #4844 T =] 5/ 8 35.24 ( 0.87)
OPN =  Uath = A 5/ 0 35.40 ( 0.78)
OPN FJII  AREE Zog ! =1 4/ 9 35.50 ( 0.88)
OPN @Ei#E f£ER = =2 9/ 4 35. 61 ( 0.85)
OPN #AJH  EiAy 23K I =) 5/ 1 35.98 ( 0.66)
OPN HH#F & = H =l 5/ 7 36. 04 ( 0.81)
OPN #Hzw Bk = A 3/ 1 36. 41 ( 0.69)
OPN AH 3+ B = 2/ 2 36. 43 ( 0.75)
OPN ARy 8l T = 3/ 7 36.48 ( 0.73)
OPN #k KA A = 1/ 0 36. 63 ( 0.86)
OPN /B  B5— FEHIME =l 6/ 7 36. 63 ( 0.87)
OPN B IEE A HEpy =2 9/ 7 36. 85 ( 0.70)
OPN 1= 2 AR s I =g 3/ 8 36.93 ( 0.78)
OPN JIIHisE D8l R =3 2/ 3 37.22 ( 0.92)
OPN &)1 =1 =N = 2/ 4 37.58 ( 1.05)
OPN G NG FHIHH =3 2/ 7 37.77 ( 0.69)
OPN Gl [EA K HHrE = 4/ 6 37.82 ( 0.78)
OPN ZRH A5 A WNIY = 4/ 1 37.95 ( 0.88)
OPN 77 L #t& FHHHH =2 6/ 9 38.10 ( 0.78)
OPN Bff 5Sf Azt Al 4/ 4 38.16 ( 0.77)
OPN ik JEME KHHIFE =l 1/ 6 38. 26 ( 0.68)
OPN #&H Ki# =K = 1/ 5 38.27 ( 0.73)
OPN IxHBf Ak e Fn =2 2/ 0 38.55 ( 0.83)
OPN fiJf % A= = 3/ 5 38. 69 ( 0.76)
OPN I FH& KR il =1 1/ 7 38.82 ( 0.83)
OPN A HETR = H =3 1/ 4 39.54 ( 0.87)
OPN R8I EngE S 52 2/ 9 40. 49 ( 0.77)
OPN ‘“ZZ¥k%E 4 JjlEKS = 5/ 3 40. 61 ( 0.85)
OPN KK FEt FHH = 1/ 8 41.76 ( 0.70)
OPN Fik iz T =1 3/ 9 41.95 ( 0.76)
OPN % K jIER:S A 4/ 3 42.99 ( 0.95)
OPN Y Ut v F sz ik = 1/ 3 44.78 ( 0.74)
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5/

5

B & 4 T B FE KK icE

OPN j#EH K& = H =3 4/ 0 48. 82 ( )
OPN [ Jfsf JiE. B2 11/ 1 k&4 4 (———— )
OPN WWH  #LHE V2w ) = 1/ 2 EHE ( )
OPN /N JE b = H =5 2/ 8 EHE ( )
OPN 1&f% #E7E izl = 3/ 2 i ( )
OPN 713k Ak A wNI =) 9/ 5 =i ( )
OPN RifH - HEpg =2 10/ 2 ZE ( )
OPN FAiE  STH NS =2 15/ 8 FEIE ( )
OPN f&JR HE LK I =2 19/ 1 FHE ( )
OPN & Pt B 2 ONIE =2 19/ 8 i ( )
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